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his motherland.

2. Underline the correct answer. 1x4=4
a) Some of the stories (surprised/bored) Jhinuk.

b) The fairy waved her magic wand (five/three) times.

c) The Sunderbans is in the extreme (south/north) of Bengal.

d) The elder brother’s voice trembled with (fear/emotion).

3. Write opposite words. 1x2=2
Now -

Dark -

4. Write ‘T’ for true and ‘F’ for false.
i) Kolkata is a very small city. [ ]
ii) The bag contained some important documents. [ ]

1x2=2

5. Change the sentences into Present Continuous Tense. 1x2=2
i) They catch the theif.

Ans:
ii) He throws the ball.

Ans:

6. Underline the adverb.
a) He never tells a lie.
b) I can do the sums easily.

1x2=2

7. Answer the following questions. 2x2=4
a) Why did Swadesh continue to run?

Ans:

b) When did Apu give a jerk?
Ans:
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